· The car has got four wheels and four doors. It has got five seats. It has got two lights at the front and two lights at the back.
· The bus has got four wheels. It has got two doors and it has got thirty-five seats. It has got four lights at the front and four lights at the back.

· The train has got fifty wheels and ten doors.  It has got four lights at the front and four lights at the back.

· The bike has got two wheels and one seat. It hasn’t got doors. It has got one light at the back and one light at the front and it has got one bell.

· The scooter has got two wheels but it hasn’t got a seat and it hasn’t got doors. It has got one light at the front and it has got one bell.
